

Vi regner minus med en ukjent

$$\boxed{11} - \boxed{} = \boxed{9} \longrightarrow$$

$$\boxed{12} - \boxed{} = \boxed{8} \longrightarrow$$

$$\boxed{20} - \boxed{} = \boxed{16} \longrightarrow$$

$$\boxed{18} - \boxed{} = \boxed{14} \longrightarrow$$

$$\boxed{15} - \boxed{} = \boxed{1} \longrightarrow$$

$$\boxed{13} - \boxed{} = \boxed{2} \longrightarrow$$

$$\boxed{} - \boxed{13} = \boxed{2} \quad \longrightarrow$$

$$\boxed{} - \boxed{10} = \boxed{3} \quad \longrightarrow$$

$$\boxed{} - \boxed{3} = \boxed{17} \quad \longrightarrow$$

$$\boxed{} - \boxed{13} = \boxed{2} \quad \longrightarrow$$

$$\boxed{19} - \boxed{} = \boxed{1} \quad \longrightarrow$$

$$\boxed{19} - \boxed{} = \boxed{16} \quad \longrightarrow$$